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M MEHIISH2 BS/HIIE)
Sel: Fazel(E2AA g%a )
(o
SN "B S(EA) - HYS e 2%
=gt ,370,000 47,729,000 18,641,
= , 171,500
< 48,150
Al , 150,350
MEHIISMe ¥ AT S/HIIE) , 763,398 26,689, 354 18,074,
= , 171,500
< 48,150
Al ,543,748
Haozel(HAANESEES ,687,634 8,21 468,
= 40,500
< 12,150
Al ,634,984
FadE X , 110,445 5,098, 166 12,
101 1A dl 57,713 57,
M4 JI2ZHZEXNSES 57,713 57,
O, HALA 57,713
-Jl=s 51,7603 x20 x50 51,760
402 Dl 51,760,000& x11.5% 5,953
201 Let24d] 162,674 172,924 A 10,250
01 At 22/l 158,874 170,924 A 12,050
O1.det+=&H 113,118
-EA¥E Y 2,700,000 2,700
- &l Al D] 50,0003 x2)4 A+ 12 1,200
—sy e HEE
20,0003 x 104 A+ 12 1,440
_X.”/dxl»t” EB =2
00& * 10 & %128 1,320
S EECE]
3,000 *3128 *23| 1,872
S EECIE A) A=
250,000 x63] 1,500
—HAXE A wH)
00,000 »2%H »4H 4,000
II2dAE PPEN A2 & 7¢
1,600,000& »12& 19,200
-HA8 4003 3128 x10Z &l x 128 14,976
-M DI E0l E2(B2)
36,000,000& 36,000
-M g 21E 0171 2l TV ERB(RAEES
) 16,000,000& 16,000
S CECL 48|
200,000& x12& 2,400
~HAXE M 22 M
& *3&+9,0000H 3,510
-tHEgmol=s & E2=S MA
70& %100, 0000H 7,000
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SN MEEED
Mz MEHIISXe ¥ NEHES(BALS/HIIZE)
SR HAZAZ(HAAIEEESAH) (2 &HH)
= (o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
03.82dxd 980
—sETelY ENUFIIS 28N 2T
70,000 x2H 140
—HIOISEH2AlE FHIASXSE =02
SESA] FLE4H 70,000 x6H x23| 840
O4.1]1=24| 5,400
“HAXNY 2HA 5,400
AL (SHIAF L8 130,000& »30H 3,900
pageaiyer 50,000& *30H 1,500
O5. 3 &H| 39,376
CHAME USRI AVAZ2N 24
7,000 x8H x8 x12& 5,376
—HAXNSY 2 MEBZAH(SHIIA ZEH)
4,000 *34H x250 34,000
02 2%l 3,800 2,000 1,800
O1.2Z22=22H Al 1,800
~EAXE DX CCTV s34 A8
150,000 x12& 1,800
O3. Al & &H| S XYl 2,000
SR AUAMNSUHAAYE SAE4H|
2,000,000& 2,000
202 044 12,550 12,550 0
01 2L bl 11,250 11,250 0
OHAME A2 0IY|
60,000 *8H 3L %7 3| 10,080
OFAXE EAHI 22 =2 S&04|
30,0008 132 33| 1,170
03 22 € 20| 1,300 1,300 0]
OFEERNT HANAS AET2A O
1,300,000 ~1H 1,300
203 €2 F=&d| 1,620 1,800 A 180
03 Al ZH =X AR = XH| 1,620 1,800 A 180
OFAH 2| AIMHF=RN PFRFAH|
1,620,000 1,620
206 M = dl 8,000 8,000 0
01 X2 bl 8,000 8,000 0
OMES & =8 a2 8,000,000& 8,000
207 O 4| 20,000 50,000 30,000
1 RS AH| 20,000 35,000 A 15,000
OMEMHIIZE =ESE WX HIIEY
20,000,000 20,000
301 et A= 3,500 3,500 0
11 JIEtE A& =2 3,500 3,500 0




SM: R EED

FM: MEHIISMe £ NAMEBE(RZES/HIIE)
©el BAZel(BAaMSELESA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUEHIIE 2t 2N Hit==2
100,000,000% *3.5/100 3,500
307 glz2tol & 4,844,388 4,849,392 A5,004
05 RIZERI & 3 4,844,388 4,849,392 A5,004
OFATY RI2HEZ 4,844,388
= =PN: 68,000,000& x12& 816,000
- SSTHUERHIIZ2 T2 =2
2,821&%119,000A CH+123 4,028,388
A NE 29 1,204,121 1,247,094 242,973
101 1A bl 491,400 503,453 A 12,053
412 HZ22NSES 491,400 503,453 A 12,053
OSASMYIISSM AT 22l (=od
Xel &) 491,400
] 200,000& x210H x11& 462,000
—MEE ¥ R0l 140,000 210 29,400
201 Let2d] 696,321 731,841 A 35,520
01 At 22l 673,329 702,313 A 28,984
O1.28 =84l 664,929
-MYJl2Y s MEH 50,000& *500H 2,500
-MYJIS-EEI SEAN B4 ZTEH &
= 1 500,0002J 1,500
-MYJI=S-EI e E M
25,0002 *3000H 7,500
-MYIIS-EEI AL CHHE M
2003 *3&+1,0000H 600
-MYJISEM AASE HME 610,309
Y 283 *50,0000H 1,400
Y/ 32:& 300, 0000H 9,600
104 39& *2,220,0000H 86,580
© 204 59 x3,275,0000H 193,225
° 504 1243 «981,0000H 121,644
1004 21& *375,0000H 82,875
C HAES (200 ) 612 *1,885,0000H 114,985
-R0dH MEE(MYIIBSHHEE B2
) 110,000 10 2+ 123 1,320
-HEmHII2 22 S MZ 160 «250,0000H 40,000
“MYJl =AHNHE AEIH MEH
120& =10, 0000H 1,200
O5.=2 &l 8,400
-MYIISEEI B Y UHEHABA FA A
HA2EL 24 ,0003 x25% «435|x 128 8,400
02 =224l 22,992 29,528 A 6,536
O1.2Z22SZHA 13,992




2N =2

M MEHIIsMe 2 UM E(E

€@l A2 (FAMGSESA)

FES/HIIE)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-MYJISEED RERS
1,930& 2004 123 4,632
-G AIIt0e 2Y SRS
30,0003 x26CH 123 9,360
O3. A& ZHl* Xt 9,000
-MYJISEEI HEE ANEZ DT RN
> 100,000& »70CH 7,000
MY IS HESE ANEZDE O
A Xl 200,000& = 10CH 2,000
301 L2 A S 1,400 1,300 100
11IIEtEA S 1,400 1,300 100
OMEDIE8E I MOEAS 50,000& »20A 1,000
O181 3 MERM AR ADEAF
50,000& x6A 300
OogJI2x3 0lkas 41243
10,000& 10 100
401 AIEHIZ 28I 15,000 10,500 4,500
01 A& HI 15,000 10,500 4,500
OMYIIEYEI HEZE A0LEZ DE(CCTV)
F=DN 1,500,000& = 10CH 15,000
HAANE(XHE) sX2el 934,570 901,422 33,148
201 et 759,920 733,632 26,288
01 At 22| 10,080 13,641 A3,561
O1.4Bt=2H| 10,080
—“HAXNE FIBA =2 33,0002 *30CH 990
“HAXE SEEAN =8 72,0003 #2504 1,800
~HAX SAEIA F2 2
1,000 «34H »5Z ¢ «12& 2,040
~HAXE CNGHEI(LHEEI1) HIIFAM ==
= 750,000 +7CH 5,250
02 =224l 749,840 719,991 29,849
O1.2Z2SZHA 58,450
“EAiE BEg8 850,000 =494 41,650
“SAIA ALEE 600,000& »12& 7,200
—HAaiE BENERES
200, 000& *24CH 23] 9,600
OS3. A€ &8l Xdl 5,289
-3 &ed =X A2 KX
3,698& %2,043m x70% 5,289
O4. Xt & el 686,101
-HEsE8 4,218,000 = 1CH 4,218
-EAXt 13,223,000& »49CH 647,927
-H&E &8 |SX2eltl 33,956
AT 3,239,000 »4CH 12,956

_4_




A

225}

[

D MEHISMe ¥ NAMES(BZEES/HIIEZ)
DA (HAANSEESA)

- _ _ RE]
SA - B .G (3AH) - MBAY - BES gﬁ‘&i HR=2
© MAD| 500,000 =42CH 21,000
206 M = dl 41,450 52,790 A 11,340
01 X2 bl 41,450 52,790 A 11,340
OLHAEAX B 2L
150, 000 *3JH 4 CH 12 21,600
OFAXE XIJIEHIS ME
100,000 2= x123] 2,400
OFAXE HIXE 2L RAU(BES)
20,000 «50CH 1,000
OFAXE MIANE 2E9sS ME 7
150,000 x5 «33| 2,250
OIS MIHE oHA™E XS D Ro Q!
70,000& *20CH *33] 4,200
OFAXYE AZ2E0IH 2 10,000
-CHXE(8E) 500,000 x4 1 x5CH 10,000
401 AlEHIZL £ 0HY| 68,000 20,000 48,000
01 Al&H| 68,000 20,000 48,000
OLsHIAXE =M 2,500,000 ~4LH 10,000
OFAXE DX &AL 20,000,000 1A 20,000
OFAXE XD X CCTV A X
12,000,000 « 1Al 12,000
OFAXE LHAEIN X 2,000,000& *130H 26,000
405 KHo&HFE S HI 65,200 95,000 A 29,800
01 AL E B F S| 65,200 95,000 A 29,800
OFAXS (2.5 CIRAZ) 65,200,000 x1CH 65,200
HMAIA XFRAUH EX(ASIAHESAY)<EX> 375,000 375,000 0
= 40,500
c 12,150
Al 322,350
405 XHA&HF S HI 375,000 375,000 0
= 40,500
o=t 12,150
Al 322,350
01 XL 2 ZFF S| 375,000 375,000 0
OFHINA HAXEZ(CNG bE 2 EEIN)
125,000, 000 *3CH 375,000
= 40,500
== 12,150
Al 322,350
ol g1 4] 1,063,498 597,517 465,981
801 oil 1l Hl 1,063,498 597,517 465,981
01 LBHoldl bl 1,063,498 597,517 465,981
oolglgl 1,063,498,000& 1,063,498
&2 Y SH(HAANSELESAH) 6,140,439 5,092,557 1,047,882




SN RREED
HE: MEHIISHA ¥ NRWES(RIES/HIIS)
SRl HEIEL ¥ 2Y(HAMSSHN)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
MY JIHEE 29 4,187,821 3,076,164 1,111,657
101 @14 Hl 137,938 53,788 84,150
04 JIZHHZ2XNEE S 137,938 53,788 84,150
OUgE SgMHIIZe(ZAIR) 59,330
=22 51,7603 «4H+202 «108 41,408
=g 51,7603 x4H x42F 8,696
P = R L= 51,760& x4H 152 3,106
-AHEE JI22RE3 53,210,000& x11.5% 6,120
omgza2el 65,506
-Jl2= 51,7603 *5F x20 L «9& 46,584
=54 51,7602 x5H 38 9,835
-ARESFIIsE 51,7603 »5H 9L 2,330
-AHEE J&22E3 58,749,000& x11.5% 6,757
OL&(Z2Y) Mg & 2ed 13,102
-Jlga 51,7603 18 20 x9& 9,317
-=E5g 51,7603 »1H «38=F 1,967
—ANRSR/IsE 51,7603 »1H +x9 466
-AHEE J&22Y3 11,750,000 *11.5% 1,352
201 Let24d]| 1,036,041 1,041,151 A5,110
01 At 2teltl 236,987 216,340 20,647
O1.28 =84l 188,091
-HEd 2F Let=3t 3,000,000& 3,000
“HgE vy 43 XY 3,000,000 3,000
-HZ24 RFILE 2 =€J| 22 2,000,000 2,000
-HE Y 83E 23 =2 129,792
HEa s 600,000& 74 2«12 50,400
H& & XIdts ZAS
500, 0003 70 2«34 & x4 3| 42,000
OH& & XISk i A=
500,000& »7H 2 +43] 14,000
T EY 28E ZAESS1,28 .49, 728
) 1,287,000 44 A x4 X| & 20,592
WAL OHDI(%3) SH443
200,000& =7 2 23] 2,800
-HEd Mojetd e s+ 2 (581,88
2) 600,000 x204 A+ 12 14,400
-HE&(E2s2) H2U HIIZA =28
1,000,000& *2CH 13l 2,000
-HEE AF2e HIIZA 22 (FS1)
8,899,000 14 & 8,899
-HEE AF2el FHIIZA =22(HY)
4,000,000 =104 2 4,000
-HEE A8 & FJIEM =2 (582)
21,000,000 =104 2 21,000
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2N =2
H: MEHIISHMe L NHEHEE(#IES/HIIS)
)

Cel: HEgdae ¥ 2 (EAASSEIA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O2. 2 &1 =FHl 500
-t 2|t A8 WSEH 500,000& 13 500
O4.101 =4l 2,640
-SSHEE 22N 2,640
T AY=E 130,000& 16 2,080
© otM Bt 35,000& x16H 560
O5.2&Hl 10,752
-HEE AI2AZ2RX =S4
7,0003 x16H 8L 128 10,752
O6. 81 = 35,004
-SHUEE =EZH fx 3,000,000 33! 9,000
-HI & HHl &&=+ 2= 015FH Xt
3,000,000& *43] 204 A 24,000
S Al Xt 132,000& 12 1,584
-d=2a7 Xt 35,000& 128 420
02 =224l 799,054 824,811 N25,757
O1.332=ZLHA 451,820
-aotE AABE(SS1-2,2X382 252
ZANE) 1,600,000& *12& 19,200
-S=2EHIISUEE Al 120,000& * 13| 120
-3 (s LEETAALER L)
35,000,000& x12& 420,000
-IHEE ¥ SEZZANEXNE, FUHEEE(17
o) 10,000, 000& 10,000
-iEd g 83N RE=
125,000& =100 23] 2,500
O2.49=dl 6,744
-Hegtd g2 ¥ RIH(sS1- 2,28, SdFX
ZANE) 1, 1003 x 120 *8Al 2k 404 & 4,224
-SHIHE Y YHIHES A=
1,400 *24 »1502 »20H »30H & 2,520
O3. A& & Hl s Xl bl 304,198
-S=1,2 HEHE 65,934
HEsdE 2AE CCTV =48R XbI (=1,
2, UY=L EAIA) 500,000& = 11CH 5,500
R/0 ANNAE SXIZeltl
15,000,000& = 1CH 23] 30,000
=FEIZ 4HH| 300,000& = 15CH 4,500
T HMEAE =87l 1,000, 0002 = 1CH 1,000
C2els ¥ RUAEKX
2,717&2,000m’ 5,434
§=018 JIHAEX =& |XH|
1,000, 0002 = 1CH 1,000
=20 A2F WAH 3,000,000 «1CH 3,000
EZ ABI2HE =4l
400,000& x10& 4,000
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2N =2
H: MEHIISHMe L NHEHEE(#IES/HIIS)
©el: HgEzel ¥ 2 (FAMNESEIA)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEBAE =8 X 1,500, 000& »2CH 3,000
AEEH =&KX 300,000& 58 1,500
SIEFI A2 WY
500,000& +3CH 1,500
COIA Y WE M| 100,000& 103 1,000
C SS20HEE MII4ddl el wH
1,000, 000& *13| 1,000
HH& B L Z&B 2dKRXHI(SS1,2)
500,000& »7HH 3,500
QAN E 24,800
° R/OAIAE | XI2eldl
10,000,000& = 1CH »23] 20,000
T=SEIZ 4 300, 0002 *6CH 1,800
EZ% =4l 1,500, 000& 2[4 3,000
-SHIHEE MESRXU(REEL, =&, 42,4
o) 2,000,000& =13l 2,000
-d&= XMelAlE |X2eltl 6,000
S 20HEH 3,000,000& 3,000
SEMSE 2,000,000& 2,000
AEZNHEE 1,000, 000& 1,000
-IHEE ¥ SEZHALE U RALH(FFH
2 22lgl) 205,464
ESDN 33,000,000 =2CH 66,000
Exawl 27,500,000 »3CH 82,500
220 33,000,000 =1CH 33,000
HEE" 7,432,000 »2CH 14,864
APy, 9,100,000 = 1CH 9,100
O4. Xt & el 36,292
- A= Xt 3,338,000 *1CH 3,338
-HRE 3,338,000 = 1CH 3,338
&b ==Xt 5,318,000 = 1CH 5,318
-HIEH 7,432,000 »1CH 7,432
-oHg = 4,717,000 »2H 9,434
-NE=(128) 7,432,000 = 1CH 7,432
202 04l 5,400 5,400 0
01 2ol 5,400 5,400 0
Ogd g8 & AZ24 20|
60,0003 *5H 32«63 5,400
206 M= Hl 587,580 720,415 A 132,835
01 24l 587,580 720,415 A 132,835
OSSHER B854 232 L AT 2
& (P.EZ) 87,860
-EES X2 (P.ERSZ,1200mm)
480,000& *50m 24,000

_8_




2N
D MEHIISM 2 UHEH
hgdael & 23 (F2A

X ZH
S =

el

N

[

SN BA(SA) - MRAY - BES il HImEET
-JtA ZE2A(PERSH) 43,340
$1,000mm 280,000 *140m 39,200
$ 150mm 23,000 x180m 4,140
-0l AEIA3 20,520
$1,200mm 350,000& 20 % 7,000
$1,000mm 290,000 40X 11,600
$ 150mm 32,000& 60X 1,920
OMg®d &&=+ HMel ASH(&s1-2, 78X,
Q) 254,760
=g EHE 1,500& *80kg* 113 13,560
—EHABHE 100,000& *0.5m 150 7,500
-t 150,000 *1.0m *300 45,000
-2 J12 & [ (R/0) 12,500& %204 300 75,000
-2J12 M & H (R/0) 12,500 x204 *300L 75,000
- H A 3,000& 204 *300 18,000
-& S 23,000 %34 =300 20,700
Omgza=2d FMM(sst 2,28) 7 244,960
2N S HIRS 120,000 »20& 2,400
-J1H % HH2FHIE X 3,000,000& 3,000
It 40,0003 *44 2= 63| 960
—NAEIN SIE 3,000,000& 3,000
-R/I0 2E ARE P (582,28 ,7EX) 226,200
HEg el 36,000& *3,000H 108,000
= 36,0003 +3,000H 108,000
JtECIXNEH 34,0002 *300H 10,200
-2ifdE 3% f HeERg
180,000& *30H 5,400
-R/OAE pHENE 7 800,000& *5H 4,000
207 51 OH £ Hl 7,750 38,750 A 31,000
EEEE 7,750 8,750 ~1,000
O+=EEHE ZRII7 50,0002 * 105 *23| 1,000
OFTEAES ANA(LDLIOHY BAL 4F)
200,000& x5& *43] 4,000
Ox=Z=FE JIAH,JN*7 250,000& x5& 1,250
OHE+8Z pHEE 2 HOH F¥
15,000& 1004 1,500
301 et A=z 5,407 4,620 787
0B M ELRIBAS 5,407 4,620 787
OME=2R23 5,407
-Jl23 216,000& x 18 128 2,592
-S4l 7,000 18 #222 «12& 1,848
- sl 2,600 «1H»222 <123 687




2N =2
H: MEHIISHMe L NHEHEE(#IES/HIIS)
©el: HgEzel ¥ 2 (FAMNESEIA)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-1l =4 140,000 » 1 »23] 280
401 Al HIZ 201 8] 2,227,205 968,000 1,259,205
01 A& HI 2,225,000 968,000 1,257,000
O g &dl =H 30,000,000& =14 30,000
O HEME =828 & Meldl(232)
80,000& x1,625& 130,000
O HE HWEHIIE +=Z 28 L Heltl(ss2
) 160,000& *5,000& 800,000
OLELE WY S +T28 L Helul(552)
125,000& *3,960= 495,000
OSS2HEZE &2 MHEMETEIZA
700,000,000 =14 2 700,000
OLLMMEE B&=+ 88Xl AlE =4&Hl
20,000,000& =10 2 20,000
OLLEMEE AM=Ze| WAL 61H 22
S A 50,000,000& =14 50,000
03 Al 2 THHI 2,205 0 2,205
OSS2HEH &2 MHSHEEXSAE AIZR
=]l 700,000,000 *0.63/100%50%<& 2> 2,205
405 XtAtE SHI 180,500 244,040 A 63,540
01 AR ESFH S 180,500 244,040 A 63,540
OsS20Hgd ¢&n 500,000 «1CH 500
OATE =24 180,000,000 =1 CH 180,000
HEHIIS NEHEBE AL 313,531 390, 383 AT6,852
201 Let24d] 33,581 47,333 A 13,752
01 At 22l 18,245 32,045 A 13,800
O1.dBt=2Hl 3,000
CMEHIIS YETIAL oLy
3,000,000& 3,000
O6.29xt=z 15,245
SUETIAIL WY MIHZL ZH YR
12,000, 000& 12,000
HYAEE ¥ SNE 27 - 29 Y5
55,0003 *59& 3,245
02 2324l 15,336 15,288 48
O3. A& & HlI s Xt 15,336
-A 2K Al 2,086& x1,599m’ 3,336
-AgJ 2T HAE =81 XH|
1,500,000 14 & 1,500
-HEHIIZE dSETAE FA22/H
9,000,000& 9,000
-HEHIIZE dSEZTANE HEANE =KX
=l 1,500, 0002 = 1CH 1,500
206 M= Hl 129,950 243,050 A 113,100




2N =2
H: MEHIISHMe L NHEHEE(#IES/HIIS)
©el: HgEzel ¥ 2 (FAMNESEIA)

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 M= 4l 129,950 243,050 A 113,100
OHMEHIIZ LdEZIANE 23 129,950
“EENM(AEEH) 1,540 x150kg 150 34,650
I (AENR 2E)
100& *120m*5001 » 100 60,000
-HEEE vE w 2
8,000 10004 «12& 9,600
-YEEIANE ZEN 223 2 7,000
ga= 5,000& «10H «53|x 128 3,000
COOHHDIA D EADNARL 1B
200,000& 10 »23 4,000
SI0R @ D2IAS 25 200,0009! +435] %45 3,200
~SETIAL JIHAH AREOIOMAL 6
) 5,000,000 5,000
—2=0|, MO, T 222 wiH
3,500& *3,0004 10,500
401 Al HIZ 201 8] 150,000 100,000 50,000
01 A& HI 150,000 100,000 50,000
OSSINYY LYETIHY 42LH £X
150,000, 0003 = 14! 150,000
ANE2e st BE3(MSMLE) 19,324 20,864 A 1,540
309 HES 19,324 20,864 A 1,540
01 SAL- SHINTES 19,324 20,864 A 1,540
OANE2EZ3E HSAEE JLEES 19,324
-MYJISEM AASE IS0
19,324,000 19,324
SH=XMZAE 29 1,619,763 1,605, 146 14,617
201 Let2dE] 106,988 87,940 19,048
01 AFR 22l 24,360 13,940 10,420
O1.4et=EHl 15,400
-SH= 29 =2 2,000,000 2,000
-SH= =Z2IAN =2 200,000 »12& 2,400
=oistst=E2FHSAIE BAE 1,000,000 1,000
-l S EFSAIE FASSHIA Hd
10,000, 000& 10,000
06. 4= 8,960
-MIBELXE X 2,300,000& =12 2,300
-ZHlg 342 S FHl X 450,000 *83| 3,600
-SgJ 94Xt 220,000 1228 2,640
-d20 Xt 35,000& =128 420
02 2324l 82,628 74,000 8,628
O3. A& & Hl s Xt 82,628
-JIHAIE =X 2el 41,017




2N =2
H: MEHIISHMe L NHEHEE(#IES/HIIS)
)

Cel: HEgdae ¥ 2 (EAASSEIA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
° €=2D](30) 2,000,000% »3CH 6,000
& &l (20) 2,000,000 »2CH 4,000
28 (10H) 1,000, 0002 »1CH 1,000
LOoIHZEs 2= (1) 3,000,000 =1CH 3,000
we o HEF(570)
400,000 *57CH*1/3 7,600
AESZ BEIIR(34U)
200,000 *34CH x1/2 3,400
T EEI(7) 1,500,000 *7CH +1/2 5,250
A2 (1,24000)
200,000 *1,24000+1/30 8,267
° SOIAE(I) 500,000& = 1CH 500
T B 2 LS Hf2 2,000,000& » 14l 2,000
-MO|, HASAE sX2el 18,550
T SAZAIMAAIAE 1,500, 000& 14! 1,500
HSI| JlseH(5H)
1,000,000 *5%H x1/2 2,500
° MOiEH(8H) 1,500,000 *8%H x1/2 6,000
© AEID| Z=EBH33H)
200,000 & *332H *1/2 3,300
S EPH20H) 200,000 x20H *1/2 2,000
BlAHZ A DI (1TH) 1,000, 0002 = 1CH 1,000
PN MAZX (1) 1,000, 000& = 1CH 1,000
CCTV & DVR(5CH) 500,000& *5CH *1/2 1,250
-Zels s d=2 =Xl 2,717&«1,200m’ 3,261
- & &Hl S bl 300,000& *12&+1/2 1,800
-SH=XMelAE EXSHA =&
100,000& =100 m* 10,000
-SH= St A™MeIANE =R X
1,000,000 «8IH & 8,000
206 M= Hl 357,238 515,206 A 157,968
01 = tl 357,238 515,206 A 157,968
O EHl 331,470
-DEN SEH(Zo2)
5,000% »280kg =100 140,000
-DEXN STHM(S012) 4,500& *40kg*100L 18,000
Db A CH(50%) 400 *2,200kg*100 88,000
It A CH(25%) 2503 +2,500kg x60 37,500
-2otHI2E 1803 *350kg x 150 9,450
-SZ2 M 1,000& x50kg 150 7,500
-2 A 3,200 *7kg*150 3,360
-XOLEAMUESE 3003 «922kg =100 27,660
OA22ZEH| 25,768
“J1AH, &1, HSEAE 500,000& *123] 6,000
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2N
X ZH -
L= B

el

PN

[

MEHIISHad ¥ NAMES(BZES/HIIE)
hgaae & 2S(FLMESEIA)

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—Ex) ABE 2,000,000& =3CH 6,000
-gE Q! 20,000 * 175 *43] 1,360
-SHlME 7,750
g 2t (100A) 100,000& *50m 5,000
=ge 250, 000& *5H4 1,250
SHAIS 300,000& *=5CH 1,500
A 2SR 3,458
cIIHAESR 88,000& *10£ 880
SUARESE 59,000& *104 590
SITH A2 L (100A) 118,800& %104 1,188
JelA (202 ) 80,000& *10H 800
-SHEALE AZE(HAERE, L S)
50,000& *123] 600
-2 H M (202 ) 150, 000& 44 600
401 Al HI L £ 0HHI 1,155,537 1,002,000 153,537
01 A& HI 1,153,500 1,002,000 151,500
ORJId2L HA=XHel 155,000 »20E #3652 1,131,500
ORIl ¥ dsdE 44X 12,000,000 *14] 12,000
OSHEXMeIAIE =& 10,000,000 =14 10,000
03 A& 20 b 2,037 0 2,037
SIEL /Al AIZ=2Ul
1,131,500,000& *0.36/ 100*50%< & 2+> 2,037
MEHIISKNASH(BAANSSEH) 29,935,325 13,377,598 16,557,727
= 21,131,000
= 36,000
Al 8,768,325
Iaegs 29 6,015,593 5,759,219 256,374
201 2yt 2 Y| 53,503 63,238 ~9,645
01 AFR2t2l bl 39,210 48,855 N9,645
O1.28t=2H| 28,830
-MEEE GtUHEEZ2 |2 2,000&*1,0000H 2,000
-HeEess =88 0t 2 22023 *10,00004 2,200
-Ho%*E & Xl 500,000& *8E& 4,000
-sAsMY Il E22=A 2,880
S2IJE Y =Y OHUHE M
100& x18,0000H 1,800
2HAHE & WElE ol AEH HE
200& *5,40004 1,080
-Ae=st2ele=HE 2 9,500
CHEZES 22 AHE 50,000& =504 2,500
0| =8 200, 000& *20Ml E 4,000
HAXX =& 30,000& = 1004 3,000




2N =2
H: MEHIISHMe L NHEHEE(#IES/HIIS)
313)

Ce MEHISNHIS(E AL SES (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
“HOAES € 2HE oA
165,000& *50& 8,250
O3.249=¢% 6,180
-tM S% s =3lus ZAE  80,000& *302] 2,400
-SAZ2FHIIZ2 MeAld dx1F3 L X
HEAR FAH 70,0003 x9H «63] 3,780
O5.= gl 4,200
—SASMY D BelxH RFE AZA2F
JNI=E 7,0003 x5 10 x 128 4,200
02 2=2Z 4l 14,383 14,383 0
O1.322ILHA 1,160
—SASMAYI =AHEI MEAXSE 1,160
=== 800,000& = 1CH 800
CEZNERE S 180,000& = 1CH »23] 360
O4. Xtk gyl 13,223
-SASMAY I =HEI NMEXE
13,223,000& = 1CH 13,223
202 odl 6,900 5,820 1,080
01 = LH o4 1l 6,900 5,820 1,080
OSAS U WEEE 224 ALET0IH
60,000 x5 X 3 63| 5,400
OSAZ2FHII2 MelAld &X SRF& oyl
60,0003 x5 x53] 1,500
206 M= Hl 34,300 36,800 A 2,500
01 MHZ 4l 34,300 36,800 A 2,500
O (1 ) 7¢ 5,500& x3,6004 19,800
oga(1r ) 7¢ 3,000& x1,6004 4,800
ONZ S H 2 20,0002 100X 2,000
OPeTe #¢ 350& 22,0004 7,700
301 L2 LS 6,720 8,064 N 1,344
09 HALAHIE& S 6,720 8,064 AN 1,344
OS1N=SE ExuEdH NASAMI 24
7,0003 x4H«10L x 128 3,360
OH=SSIHH NS AR 24
7,0003 x4H«10L «12& 3,360
307 glz2+ol & 5,914,080 5,410,297 503,783
05 RIZHRIEF 3 5,914,080 5,410,297 503,783
OsasMI =828 £ XMal
128,240& 3,500+ 12& 5,386,080
OsAlZ B4 ALAH x|
88,000& x6,000& 528,000
SI1=Es UsEH 16,200 16,200 0
201 £B-2dH| 16,200 16,200 0




2N =2
H: MEHIISHMe L NHEHEE(#IES/HIIS)
t 31

Ce MEHISNHIS(E AL SES (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 A2 Z Hl 16,200 16,200 0
OZ1NES LsZH A 16,200,000& 16,200
HeEE T EL4SRNI<KER> 100,000 100,000 0
< 30,000
Al 70,000
301 L2 A F 100,000 100,000 0
= 30,000
Al 70,000
11IIEIEA S 100,000 100,000 0
onMges =d24=2 20,000& x5,000& 100,000
< 30,000
Al 70,000
I HHII S H 2| Al L & X <2 > 12,406,000 2,757,000 9,649,000
= 12,406,000
403 XHXI €I S Xt =201 ® 12,406,000 2,757,000 9,649,000
= 12,406,000
02 SJ|1 2SOl CHSH At 2 X CH & AF I 12,406,000 2,757,000 9,649,000
OJHHHIISEMelAld SXAS
12,406,000, 0003 14 12,406,000
= 12,406,000
DEOSHE N8R R<EE> 8,719,000 1,937,000 6,782,000
= 8,719,000
403 MHXISHE X201 & 8,719,000 1,937,000 6,782,000
= 8,719,000
02 SO 2SO HSHAHE X OH e At H 8,719,000 1,937,000 6,782,000
OLNEAHZ NS HdE2Le &XNAY
8,719,000, 000& 14 8,719,000
= 8,719,000
RFIDBA S MY Dl &2AIAHE A5 799,222 383,057 416,165
201 Let24E] 86,953 180,392 A 93,439
01 At 22l 30,718 14,352 16,366
O1.4et=&Hl 30,718
-SASAI AEEHH HEAMY
49,2703 260128 15,373
-SASAI AEHH M= EIIEA
45,0003 *3410H 15,345
02 =224l 56,235 166,040 A 109,805
O3. A& ZHI s Xt 56,235
-SASAdD HEEH |RAE=H
56,235,000 » 14! 56,235
301 L2 A F 67,269 102,665 A 35,396
11IIEEAS 67,269 102,665 A 35,396
ORFID S SASMY I SEH bts=
=3 510,000,000& *2.5/100 12,750
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2N =2
H: MEHIISHMe L NHEHEE(#IES/HIIS)
t 31

Ce MEHISNHIS(E AL SES (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZS=8 SASMY Dl HEEH Sl
25,202,000 25,202
OsSaASXdI SEM HEEH HIIes X
1,200& *1, 14701123 16,517
OSASHI 28 2+ ST AYS 12,800
-X R 700,000& =404 2= 2,800
-2 500,000 *8IH 2 4,000
-&d 300,000& *200H 2 6,000
401 AIEHI L 201 5,000 100,000 95,000
01 A& HI 5,000 100,000 295,000
SASMYI =HE AN =2l € i
5,000,000& » 14 5,000
405 THabH S| 640,000 0 640,000
01 XL =S H St 640,000 0 640,000
OL% SASMYI| HTZH DA
1,600, 000 =400CH 640,000
=8 SASMYD BEM =8 123,200 253,700 A 130,500
201 et 123,200 201,200 278,000
01 At 22l 123,200 201,200 278,000
O1.28 =84l 123,200
-SA2MY D 2017 718 g8
5,000,000& *43| 20,000
-SASMY I =010 EE2 ME 13,200
TAH 70& %90, 00004 6,300
© iU 110,000& »40H 4,400
HE2(UE) 300,000& *5J1 13 1,500
0(AEH) 50,000 x50 x4 3] 1,000
—HEFE SASMYIISEH AEIHHE H
& 90,000
° 5 403 *1,400,0000H 56,000
© 204 403 *400,0000H 16,000
° 604 40& %150, 0000H 6,000
° 1204 40& *300,0000H 12,000
SEHHESHS AR E> 26,000 26,000 0
= 6,000
< 6,000
Al 14,000
301 gt d = 26,000 26,000 0
= 6,000
< 6,000
Al 14,000
1MIIEBESS 26,000 26,000 0
Os& HHE=H243 10,000& »2,600& 26,000
= 6,000




2N
X ZH -
L= B

el

MEHIISHe ¥ UJWE
MEHIISAASHEMA

pNE R B

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 6,000
Al 14,000
ANE2e3e 3&E32(22018d) 1,707,590 1,900, 562 A192,972
309 MEZ2 1,612,590 1,848,562 A 235,972
01 SAt- SHINTES 1,612,590 1,848,562 A 235,972
OA&2el 3 )28 I4E=E3 1,612,590
-HESHEE 29 1,612,590, 000& 1,612,590
404 SASHUHEHES 95,000 52,000 43,000
01 SA-sEHI=8EZ 95,000 52,000 43,000
OAgzelss FFI2lE A=dsEs 95,000
-NEsdEdy 29 95,000, 000& 95,000
ARASAIE AX 22,520 244,860 A 222,340
201 Let2d] 12,020 18,360 26,340
01 At 22l 12,020 8,360 3,660
O1.4et=ZHl 9,500
-XHEAE et 2,000,000& 2,000
~MERHI2UHUERE ALY EE2 ME
500& x15,0000H 7,500
O5.=2 &l 2,520
“XNHEAE HRFE AIZAZRI 24
7,0003 3 ~10 128 2,520
202 04l 4,500 4,500 0
01 = LH YI 4,500 4,500 0
OMEHIISM2AE FE0H
60,0003 *3H x5 53| 4,500
301 et A3z 6,000 12,000 A 6,000
09 &AL HIZ &S 6,000 12,000 A 6,000
OXZAE SHOAY XFE=F0 88X AS
60,000& x100H 6,000
HY I (KMHRE=2D)(IIEH/DIEH) 19,833,832 19,208,910 624,922
OlHARHY(HAALESHSBIA) 19,654,802 19,037,390 617,412
fAHeE2A 19,654,802 19,037,390 617,412
101 1244 dl 19,654,802 19,037,390 617,412
03 RIAHAZZ2THE 19,654,802 19,037,390 617,412
Oot1.gz3z&el&d 17,068,863
AR 1,345,330& +x307H x12& 4,956,196
== 2,015,330& 307 H x200% 1,237,413
-E2g 2,015,330 307 H % 180% 1,113,672
Ml & EhE | 2,015,330& 307 H x300% 1,856,119
s 235,040
b < Xt 40,000 *307H *0.78+12& 114,941
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SN HREED
M HE2IHH (N &) (J1EH/IIE
€l AHESAH(EAANSSEEA) (Sl & &)
SN BA(SA) - MRAY - BES il HImEET
° JIEHHSE 20,0003 307X 1.48+12& 109,047
CORAINZ(AMOL 0l4)
50,000 *307H +0. 06+ 122 11,052
SxgRE 90,000& +307H +x12& 331,560
-HPFAsY 70,000 =307 «12& 257,880
- A S A 160,000& *307H 123 589,440
-JtH 2 &8I 110,000& x307H «12& 405,240
- S 2 X 140,000 x307H 123 515,760
- E F Ot 2,015,330& 307 H x150% 928,060
—2HAlH| 5,000 «307H 22«12 405,240
0222 62,2103 *30F x5 «12& 111,978
5222 116,640& 307 20 716,170
-ANRESFIITE 105,000& *307H 20 644,700
-Alsg 100,000 *307H x12& 368,400
“AHRI 2R 23,3203 *307H 12 2t 85,911
-NHASHEE+E
465,330& *307E +0. 15%43] 85,714
-HAA=EH ¢ 200,000& *12H «x12& 28,800
-E&3 4,500,0003 «15H 208 +1.5 ,025,000
-S| AEHES 46,300 *307H <123 170,570
O2JIEtRIHL 22 1t 195,671
- kA 31,583
s 1,162,900 1H «12& 13,955
&0z 1,162,900& » 1H x400% 4,652
YEFOH 1,162,900 1 «120% 1,396
S22R+E 60,4473 « 12 x150%* 14 1,270
SPNE=, 60,4473 x1H »202 1,209
MRS 70,0003 x1H » 128 840
AESHIBE R 465,330 x 1 x43] 1,862
A Z A 130,000 1 123 1,560
IEE 960
* Ui S Xt 40,0003 x1H » 12 480
* J|EHILS 20,0003 x2H 128 480
d2=g 1,162,900 » 1 x50%*23| 1,163
Aesg 1,162,900 »1H »10%* 122 1,396
25043 50,000 »1H » 122 600
Pl =G 50,0003 x 18 «12& 600
P M= 60,0003 1 »23] 120
-Xcel& 114,799
2s 1,103,300& «4H «12& 52,959
o0z 1,103, 300& 4 X x400% 17,653
HEF O 1,103,300& x4 X x120% 5,296
sL224 57,9403 x4 H «150%* 14 4,867
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o >
J¥ 0 o

M0 MO M>

02 09 o
oY
— [T

JIEH/IIEH)
Al

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
A X4 G 57,940& x4 x19L 4,404
ANESHEX4+E 465,330 x4 Y 43| 7,446
wWEE XH| 70,000 x4H x12& 3,360
g A 130,000& x4 x12& 6,240

CIIESY 2,880
* il 2 Xt 40,000& x4H x12& 1,920

* J|EFIIS 20,000& x4 x12& 960
202 50,000& x4H x12& 2,400
d24 1,103, 300& x4 *50%*23] 4,414
M 50,000& x4 x 128 2,400

P M= 60,000 *4H *23| 480
-SSHEH 25,254
3 1,133,300& x1¥ ~12& 13,600
A= 1,133, 300& 1 *400% 4,534

H & S OHY| 1,133,300& 1™ *120% 1,360

A X 57,290& 1% »20 1,146

S oHFAlH| 130,000& x1H = 12& 1,560
CIIEY 480
* bl 2 X 40,000& 1 x12& 480
d24 1,133,300& * 1 *50%*23] 1,134
2EJHA S 50,000 12« 12& 600
WS 2 XH| 70,000 x1H x12& 840
-SXg& 22 24,035
3 1,093,300& x1H ~12& 13,120
R 1,093, 300& 19 *400% 4,374
HE S 0HY| 1,093, 300& 1 *120% 1,312

A X 55,220 x1H 18 994

S oHFAH| 130,000 x1H »12& 1,560
CIIEY 480
* bl 2 X 40,000& 1 x 128 480
d24 1,003, 300& *1H *40%*23] 875
2EIJHAZ 40,000 1~ 128 480
WS 2 XH| 70,000 x1H x12& 840
O4. 8322 o=l 153,283
-& s 120,000& *307YH 23| 73,680
-2 9 35,000 *307H 10,745
—OFM (OFZ) X)) 35,000& *307Y *23| 21,490
—-gh 5k &2t 20,000 *307H 6,140
- DX} 12,000& 307 Y *x23] 7,368
-& 3t 12,0002 *307H 3,684
-Ot& gt 70,000 *307H 21,490
-OtNM Y E 40,000& *50H4 2,000
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AN A=
M HE2IHH (N &) (J1EH/IIE
Sl AU (HAANRSHIIN) CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-t 2 Xt 10,000 =82 820
“HEOGAI(SIA)  1,3002 x94H +435] « 122 5,866
06012223 2 28E 1,700,635
-201012 U TAXEY
16,266,800, 000 *4.50% 732,006
-HLEER 16,266,800, 000& *2.82% 458,724
-1EEEE 16,266,800,000& *0.65% 105,735
-MHHEE R 16,266,800, 000& *23/1,000 374,137
-LOEDIRYEEE 458,513,000& *6.55% 30,033
Ogzzeld X8 =X 445,900
-dEH 1,300,000& 307X 399,100
-Sgazad 300,000 156 & 46,800
Ostgd &eld OkRsldH 24
50,000& 307 *23| 30,700
Otz zeld FEE AR 223 A& AE
1,200,000& «22H 26,400
OgtZzeld Y22 JdAX As
1,200,000 «159 18,000
OgZ&eld 2Z2RY JIEs
50,000 307 15,350
JI2ZH(HEAAMLELSAH) 179,030 171,520 7,510
fMH2EH 64,850 65,260 A410
201 24l 64,850 65,260 A410
01 At 22l 62,450 62,860 A 410
ORAM2Y Let=&Hl 5,300,000 5,300
Ogatl 54,350
-2 A 50,000 =1 1192 30 A& 17,850
-=3Z 50,0003 «1H *3652 «20H £ 36,500
ORAM2Y =St 2,800,000& 2,800
02 =224l 2,400 2,400 0
Od3Re= 50,000& =401 122 2,400
HEFE A 109,380 101,220 8,160
202 04l 109,380 101,220 8,160
01 = LH 4 Hi 109,380 101,220 8,160
OFYRFAAL 20,0008 27F 13 128 84,240
O28A =QARF=IHHI
10,0003 #1313 128 20,280
O&=HEZRX 6l 20,0003 27«32 32 4,860
QR FAH 4,800 5,040 A 240
203 AR ZF Yl 4,800 5,040 A 240
04 EA2IYRFEH 4,800 5,040 A 240
ORMSIE2FIHI(HA:40Y) 4,800
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SN REEED
M HE2GFUI (K2 =2)(J1EHIIE
¢el: 23U (EAMSSESA) (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-2 350,000& x12& 4,200
-Z= 1 5,000& 108 128 600
HRaegs (e (3Z22S/HII8) 1,772,770 1,830,736 A 57,966
BEXNE(HEAALELIA) 1,068,750 1,150,000 A 81,250
Xt 20| At aks 68,750 150,000 A 81,250
311 Xt S0l A& & 68,750 150,000 A 81,250
05 JIEHXH S 01 At & & 68,750 150,000 A 81,250
OMEHIIES NHIATHEE(HE 2E)ANE &1
2 A 2,750,000,000& *2.5% 68,750
HL=ASLE 1,000,000 ,000, 000 0
601 XL SAS&E 1,000,000 ,000,000 0
055 IIEI=UHRIY S| S4 1,000,000 ,000, 000 0
OMEHI= N3N HdE A=)AE &R
=N 250,000,000 »43| 1,000,000
SHAHXNS(HAANHELES 704,020 680, 736 23,284
JISNES 653,020 680,736 N2T,716
702 JISEEZS 653,020 680,736 N2T7,716
0MNI3HES 653,020 680,736 N2T,716
OHYIE MelAME FHIEXS FUXZIIS 653,020
-SSHEg®E 653,020,000 653,020
SI)HHE= 51,000 0 51,000
701 JIEtSIHENMES 51,000 0 51,000
02 BISEEAHNE A 51,000 0 51,000
OSsAE H= o= & A H™eldl
13,600& *x15& 250 51,000




